Geomeiry Notes Name
10.6 Find Segment Lengths in Circles

Segments of the Chord: when two chords intersect in the
interior of a circle, each chord is divided into fwo segments
called segments of the chord.

Secant Segment: a secant segment is a segment that
contains a chord of a circle, and has exactly one endpoint
outside the circle.

External Segment
An external segment is the part of a secant segment that is

outside the circle.

Theorems Picture/ Description

What are the segments of chord DC?
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SEGMENTS OF CHORDS THEOREM
If two chords intersect in the interior of a What are the segments of chord AB?
circle, then the product of the lengths of the AE, EDS
segments of one chord is equal to the product of '
the lengths of the segments of the other chord.
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3. If the chords were equal in proble/r‘an. What could you conclude about arclljé ?
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Geometry Name ID: 1

Circle Segments: Chords

Date Period

Solve for x. Assume that lines which appear tangent are tangent.
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Find the measure of the line segment indicated. Assume that lines which appear tangent are

tangent.
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Solve for x. Assume that lines which appear tangent are tangent.
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Find the measure of the line segment indicated. Assume that lines which appear tangent are

tangent.
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